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QUESTION 1

In a unique referential constraint, which type of key does a foreign key reference?
A. Child key

B. Collation key

C. Parent key

D. Secondary key

Correct Answer: C

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPGG_11.1.0/
com.ibm.db2.luw.admin.dbobj.doc/doc/c0020166.html

QUESTION 2

The following warning message is issued when the last available active log data set is 5% full:
DSNJ110E -LAST COPY n ACTIVE LOG DATA SET IS nnn PERCENT FULL

What will happen if you ignore this message?

A. DB2 will shut down if it reaches the 100% full condition

B. DB2 will overwrite the oldest archive log without archiving

C. DB2 will stop any activity that requires log writes if it reaches the 100% full condition

D. DB2 will automatically allocate more active log data sets as long as there are still less than 93 of them
Correct Answer: D

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_10.0.0/msgs/src/tpc/dsnj110e.html

QUESTION 3

Given a non-partitioned table space TS1 is built with LOCKSIZE ROW, LOCKMAX 1000 and SEGSIZE 64. If a unit of
work acquires 1001 locks against table space TS1, the lock will be escalated to which of the following levels?

A. PAGE

B. TABLE

C. PARTITION
D. TABLESPACE

Correct Answer: C
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QUESTION 4

Which component of the program preparation produces a DBRM (Database request Module)?
A. Compiler

B. Linkage Editor

C. Bind command

D. Precompiler/Coprocessor

Correct Answer: D

Reference: https://www.ibm.com/support/knowledgecenter/en/SSGMGV_3.1.0/com.ibm.cics.ts31.doc/
dfhtk/dfhtk20.htm

QUESTION 5

While DSN is running, which of the following commands CANNOT be successfully executed?
A.-STOP DB2

B. -START DB2

C. -TERM UTILITY

D. -DISPLAY UTILITY

Correct Answer: D
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